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Subtraction (Vertical) Name:
Solve each problem. Answers
1.
1) 85 2) 6,723 3) 866 4) 962
- 3 - 723 - 5 - 94 5
3.
4,
5 5,665 6) 963 7 341 8 819 >
- 2 -231 - 16 - 326 6
7.
8.
9 79 100 7,979 1) 82 12) 949 9.
- 37 -6,513 - 8 - 77
- - - - 10.
11.
12.
13) 640 14) 5,020 15 51 16) 569 13.
- 631 - 289 - 8 - 4
14.
15.
16.
17) 7,938 18) 3,510 19) 1,977 200 57 17
- 8 - 59 - 89 -14
18.
19.
20.
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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Subtraction (Vertical) Name: Answer Key
Solve each problem. Answers
1 82
1) 85 2) 6,723 3) 866 4) 962
- 3 - 723 - 5 - 94 5 6,000
82 6,000 861 868
3 861
4 868
5 5,665 6) 963 7 341 8 819 > 5,663
- 2 -231 - 16 - 326 6 732
5,663 732 325 493
7 325
8 493
9 79 10) 7,979 1) g2 12) 949 9 42
- 37 -6,513 - 8 - 77 o 1,466
42 1,466 74 872
11, 74
12 872
13) 640 14) 5020 15 51 16) 569 13. 9
- 631 - 289 - 8 - 4
9 4731 43 565 . 4,731
15. 43
16. 9565
17) 7,938 18) 3,510 19 1,977 200 57 = 7,930
- 8 - 59 - 89 -14
7,930 3,451 1,888 43 18, 3,451
19. 1,888
20. 43
1-10 [95|190|85(80(75|70| 65|60 |55|50
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C:# Subtraction (Vertical) Name:

Solve each problem. Answers
42 82 6,000 868 861
74 732 872 1,466 325 1.
5,663 493
2.
1) 85 2 6,723 3 866 3.
- 3 - 723 - 5
- - 4,
5.
6.
7.
4 962 5 5,665 6) 963
- 94 - 2 - 231 8.
9.
10.
11.
) 341 8 819 9 79 12
- 16 - 326 - 37
100 7,979 1) 82 12) 949
- 6,513 - 8 - 77
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